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!      Assume each processor has a double precision array A(1:n).

!      Perform a right circular shift on p processors.  Your

!      program should run correctly for any n > 0 and p  > 1.

!      check your program with n = 1 and p = 4.

       use mpi

       implicit none

       integer,parameter :: dp = mpi_double_precision, comm = mpi_comm_world

       integer,parameter :: n=1

       double precision :: A(n)

       integer :: i, j, ierror, p, rank, status(mpi_status_size)

       call mpi_init(ierror)

       call mpi_comm_size(comm, p, ierror)

       call mpi_comm_rank(comm, rank, ierror)

!      Initialize A on all processors:

       A = dble(rank)

       print *, 'Before the shift on processor ',rank,' A = ',A

!      Perform the right shift:  
      (insert your code here)
       print *, 'After  the shift on processor ',rank,' A = ',A
       call mpi_finalize(ierror)

       end

!      RESULTS

!  hpc-class-% mpirun -np 4 a.out

!   Before the shift on processor            1  A =    1.00000000000000

!   Before the shift on processor            2  A =    2.00000000000000

!   After  the shift on processor            2  A =    1.00000000000000

!   Before the shift on processor            3  A =    3.00000000000000

!   Before the shift on processor            0  A =   0.000000000000000E+000

!   After  the shift on processor            1  A =   0.000000000000000E+000

!   After  the shift on processor            3  A =    2.00000000000000

!   After  the shift on processor            0  A =    3.00000000000000

!  hpc-class-%
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